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QUESTION 1

An administrator would like to configure vSphere HA to use two isolation addresses. 

How would this affect the behavior of HA? 

A. If both isolation addresses are not reachable, the host will be restarted by the HA agent. 

B. If both isolation addresses are not reachable, the host will use the vCenter Server IP address as a final isolation
address before being marked isolated. 

C. If only one of the isolation addresses is reachable, the host will not be marked isolated by HA. 

D. If only one of the isolation addresses is reachable, the host will be considered in an isolated by HA. 

Correct Answer: C 

if you use two isolation addresses, and if only one of the isolation addresses is reachable, the host will not be marked
isolated by HA. 

 

QUESTION 2

What VM Monitoring setting would ensure that the maximum reset window for a virtual machine is 24 hours? 

A. Normal 

B. Low 

C. High 

D. Medium 

Correct Answer: D 

Explanation: https://blogs.vmware.com/vsphere/2014/03/vsphere-ha-vm-monitoring-back- basics.html 

 

QUESTION 3

View the Exhibit. The exhibit represents a vCenter HA with external Platform Services Controllers in a highly available
deployment. 

How many vCenter Server 6.5 licenses are required? 
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A. 5 

B. 3 

C. 2 

D. 1 

Correct Answer: D 

 

QUESTION 4

Which are two Storage DRS requirements? (Choose two.) 

A. Datastore clusters must have datastores of the same size and I/O capacities. 

B. NFS and VMFS datastores cannot be combined in the same datastore cluster. 

C. Datastores shared across multiple datacenters cannot be included in a datastore cluster. 

D. NFS and vSAN datastores can be combined in the same datastore clusters. 

E. A dedicated TCP/IP stack is required for datastore clusters. 
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Correct Answer: BC 

 

QUESTION 5

Which are the three supported backup types for the vCenter Server Appliance 6.5? (Choose three.) 

A. File-Based Backup 

B. vSphere Storage APIs-Data Protection 

C. Replication 

D. Snapshots 

E. vSphere Data Protection 

Correct Answer: ABE 

 

QUESTION 6

An administrator notices that a virtual machine running SQL Server is not performing as expected. Upon 

checking the logs, the administrator sees the following error: 

vmware.log> vmx| W110: NUMA and VCPU hot add are incompatible. Forcing UMA 

How can the administrator resolve this issue? 

A. Power off the virtual machine and disable vCPU hot plug. 

B. Reinstall VMware Tools. 

C. Modify the .vmx file to force NUMA and vCPU hot add to function. 

D. Install a third party plug-in to enable NUMA and vCPU hot add to function. 

Correct Answer: A 

 

QUESTION 7

What three processes on the vCenter Server Appliance (VCSA) does "vmware-watchdpg" monitor? (Choose three.) 

A. vpxd 

B. vsan-health 

C. vmware-vpostgres 

D. vmware-eam 

E. vmcad 
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Correct Answer: ABC 

 

QUESTION 8

Which two statements are true for Predictive DRS? (Choose two.) 

A. It balances resource utilization for virtual machines with unpredictable utilization patterns. 

B. It integrates DRS with vRealize Operations Manager to balance workloads for virtual machines before resource
utilization spikes occur. 

C. It balances resource utilization based on a threshold\\'s algorithm that runs each night. 

D. It determines the best placement and balance of virtual machines based on a threshold\\'s algorithm that runs each
night in vCenter Server 6.5 Database. 

Correct Answer: BC 

Predictive DRS Predictive DRS is a new feature that leverages the predictive analytics of vRealize Operations Manager
with the powerful resource scheduler algorithm of vSphere DRS. Together, these two products enable workload
balancing for certain VMs before resource utilization spikes occur, potentially eliminating a great amount of resource
contention that might have occurred in the past. vRealize Operations Manager runs its dynamic thresholds algorithm
nightly against the VMs on which it collects data. These dynamic thresholds create forecasted metrics for the future
utilization of the VMs. The metrics are then passed to vSphere DRS to determine the best placement and balance of
VMs before resource utilization spikes occur. Predictive DRS helps prevent resource contention on hosts that run VMs
with predictable utilization patterns. 

 

QUESTION 9

An administrator is attempting to power on a virtual machine with 32GB of memory. The operation fails with the following
error: 

Could not power on VM: No space left on device 

Checking the space on the virtual machine\\'s datastore, there is 30GB free. 

Which action would allow the VM to power on? 

A. Set a 2GB memory reservation on the VM. 

B. Mount the virtual disk from the affected VM on to another virtual machine and free up space from within the OS. 

C. Enable vSphere HD admission control on the cluster in which the VM resides. 

D. Set a 2GB memory limit on the VM. 

Correct Answer: A 

 

The swap file size can be calculated with the formula (.vswp File = Allocated Memory - Memory 

Reservation). 
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As per default, the reservation is set to 0, so the .vswp file size is equal to the amount of virtual memory. 

 

QUESTION 10

In a vSphere environment, two resource pools are created as shown in the Exhibit. 

Each VM is configured with 1 GB of memory. When the administrator tried to power on VM3, the operation failed. 

What action in the resource pool settings will allow VM3 to power on successfully? 

A. Increase Memory Reservation. 

B. Deselect Expandable Memory Reservation 

C. Increase the CPU Reservation 

D. Deselect Expandable CPU Reservation. 

Correct Answer: A 

 

QUESTION 11

Which is the purpose of VM Component Protection (VMCP)? 

A. Reconnect virtual NICs that become disconnected 

B. Respond when a datastore encounters a PDL or APD failure. 

C. Restart applications when they are no longer running. 

D. Respond when viruses are detected inside a virtual machine. 

Correct Answer: B 
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QUESTION 12

An administrator is trying to remove a host from a vSphere Distributed Switch named DSwitch01. The following error
message is displayed: 

vDS DSwitch01 port 17 is still on host 192.168.100.23 connected to VM01 nic=4000 type=vmVnic 

Which two actions can the administrator make before removing the host from the vSphere Distributed Switch? (Choose
two.) 

A. Migrate VM01 to DSwitch01 port 1. 

B. Add an additional vNIC to VM01 to another vSphere Distributed Switch. 

C. Migrate VM01 to another host. 

D. Disconnect the VM01\\'s vNIC. 

E. Place VM01 into Maintenance Mode. 

Correct Answer: CD 

Before removing the host from distributed switch, migrate VM01 to Dswitch01 Port1. Then disconnect VM01 NIC. 

 

QUESTION 13

The Health Check feature in the vSphere Distributed Switch helps troubleshoot network connectivity. What three checks
does this feature perform? (Choose three.) 

A. Network Utilization 

B. MTU 

C. VLAN 

D. Teaming and Failover 

Correct Answer: BCD 

Explanation: https://kb.vmware.com/s/article/2032878 

 

QUESTION 14

Which action can the Hybrid Cloud Manager perform? 

A. It can migrate virtual machines with vMotion between vCenter Servers with distinct Single Sign-on domains. 

B. It can manage vCloud Air and Amazon Web Services (EC2) from a single interface. 

C. It can migrate the virtual machines with vMotion between AWS, Azure, and vCloud Air. 

D. It can move a virtual machine from vCloud Air to on premises vSphere. 
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Correct Answer: D 

 

QUESTION 15

The administrator set Local OS as the default identity source of vCenter Single Sign-On. A user named "user1" belongs
to domain "mydomain" and tries to log in to vCenter Single Sign-On. 

Which two user names are appropriate to use for login? (Choose two.) 

A. user1\mydomain 

B. mydomain@user1 

C. mydomain\user1 

D. user1@vsphere.local 

E. user1@mydomain 

Correct Answer: CE 
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